
Bar Cabinet               WF323412AAK

Assembly Instructions - Please keep for future reference

Important – Please read these instructions fully before starting assembly





Using Camlocks

2

3

4

4

Step 1

Step 3

Step 2

Step 4

Connect the male

camlock as diected in

the assembly instructions

using a scewdriver.

Push the male camlock

into the entry hole.

Insert the femle

camlock as shown in the

instruction.

Note：ensure that the

arrow on the top of  the

camlock points towards

the entry hole for the

male camlock.

Turn the female camlock

clockwise with a

screwdriver.

You should feel a click

when the camlock is

locked in place.

The joint is now secure.



Assembly Instructions

1

2

3

4

5

5

6

7

8

9

10

11

12

13

14

15

15

15

15

16

16

17

17

18

19

20

21

21

21

22

22

22

24

23

25

23

24

26

27

28

27

29

30

31

31

32

32



Part List：WF323412AAK

2 3 4 5

7 8 9 10

12 13 14 15

16 17 18 19 20

21 22

11

6

1

23 24 25

26 27 28 29 30

31 32

1 PC 1 PC 2 PCS

1 PC

1 PC 1 PC

1 PC1 PC

1 PC

3 PCS

2 PCS

1 PC 1 PC

1 PC 1 PC 1 PC

3 PCS

1 PC

4 PCS

1 PC

1 PC 1 PC 1 PC 1 PC

1 PC

1 PC 1 PC

2 PCS

2 PCS 2 PCS

2 PCS

2 PCS 2 PCS

Hardware



Hardware list： WF323412AAK

Note:

may be supplied than are required.

Male Camlock x 64

A

D

G

Female Camlock x 64

B

E

H

C

Dowel (8x30) x 30

F

Please check you have all the panels listed below

The quantitie below are the correcet amount to complete the assembly. In some cases more fittings

I

J K L

Drawer slider 12" X 3

M

Handle & Fixings x 3

N O

P Q
R

S

Door Hinge x 4

Handle & Fixings x 2

Magnet Touch x 2

T

U

V

3*12mm Screw x 28

Plasticwedge x 12

4*14mm Screw x 24 3.5*14mm Screw x 2

Wall Fixing Pack x 2

Adjustable Foot x 1 Ø20 Sticker x 32

Wire Holder x 4

Shelf Support Pin x 12

6*40mm Screw x 8

Light Strip x 1

3*16mm Screw x 24

4*30mm Screw x 12

Socket x1

Tools required

Phillips screwdriver

(medium & large),

Ruler - Use this ruler to help correctly identify the screws

0 5      10    15     20    25     30    35    40     45     50    55    60    65     70     75     80    85     90    95    100  105   110   115  120  125  130   135   140  145  150   155   160  165   170

The screws length is measured from the head to the point (30mm screw shown).

This is not inclue in the hardware.



Assembly Instructions

Step 1

Step 2

A x 8

A

C x 4

C

4 3

A

A

A

A

A

A

A

A

C

C

C

C

L

L

L

L

L x 4

L

C x 14

C

C

C

C

C

C C

C

C

C

C

C

C

C

C

2

1



Assembly Instructions

Step 3

Step 4

A x 4

A

A

A

A

A

2

1

B x 8

B

1 2 3

2
1

3

4

B

B

B

B

B

B

B

B



Assembly Instructions

Step 5

Step 6

D2

D1

D2

D1

D1 installed on No.1 and 2(Step2/Step3/Step8)

D2 installed on the bottom of the drawer.(Step 55)

D

D x 3

E

E

E

E

1

2

D1

D1

E x 4

E

E

E

D1

D1



Assembly Instructions

Step 7

Step 8

A

A

E

E

E

E

D1

D1

C

C

C

C

6

6

A x 2

A

C x 4

C

E x 4

E

1

8

0

°

1

8

0

°

E

D1

E

D1

A

A

E

E

E

E

D1

D1

C

C

C

C

7

7

1

8

0

°

1

8

0

°

E

D1

E

D1

A x 2

A

C x 4

C

E x 4

E



Assembly Instructions

Step 9

Step 10

Q

Q

I

I

I

I

V

V

9

V

I

I

7

I x 8

I

Q

V

Q x 2

V x 2

I

I

Q

9

1.

LED

U

2.

U

9

U

U

U x 1



Assembly Instructions

Step 12

Step 11

B x 4

B

1 2 3

B

B

B

B

6

7

8

6

7

9



Assembly Instructions

Step 13

Step 14

B x 2

B

1 2 3

B

B

6

7

2

9

6

7

2

1

B x 2

B

1 2 3

B

B



Assembly Instructions

Step 15

Step 16

A x 8

A

A

A

A

A

A

A

A

A

10

1

6

7

2

10

B x 8

B

1 2 3

B

B

B

B

B

B

B

B



Assembly Instructions

Step 17

Step 18

13

12

11

A x 8

A

A

A

A

A

A

A

A

A

15

15

15

15



Assembly Instructions

Step 19

Step 20

C x 4

C

17

C

C

C

C

17

B

B

B

B

15

15

15

15

17

17

B x 4

B

1 2 3



16

B

B

B

B

A

G x 4

G

S x 1

S

A x 12

14

A

A

A
A

A

A

A

A

A

A

A

A

G

S

15

15

15

15

16

Assembly Instructions

Step 21

Step 22

B x 4

B

1 2 3

X4



B

A

A x 8

L x 4

L

A

A

A

A

A

A

A

A

L

L

L

L

14

16

16

17

17

14

Assembly Instructions

Step 23

Step 24

B x 12

B

1 2 3

X12



Assembly Instructions

Step 25

Step 26

2

7

6

1

14

B x 8

B

1 2 3

B X4

B X4

I x 4

I

V

V x 2

I

I

2

V

V

2

I

I

I

I

V

V



Assembly Instructions

Step 27

Step 28

P

H

H

H

P x 1

P

H x 2

10

P

H

H

18

19

20

A

A x 12

A

A

A

A

A

A

A

A

A

A

A

A



Assembly Instructions

Step 29

Step 30

18

19

20

21

21

21

22

22

22

B

B

B

B

B

B

B

B

B

B

B

B

18

19

20

23

23

25

21

21

21

22

22

22

B x 12

B

1 2 3



Assembly Instructions

Step 31

Step 32

19

20

K x 12

K

K

K

K

K

K

K

K

K

K

K

K

K

18

24

24

26

N

N

N

N

N

N

N

N

N

N x 3

N

18

19

20



Assembly Instructions

Step 33

Step 34

D2

D2

D2

D2

D2

D2

18

19

20

E x 12

E

1

2

3

E

E

E

E

E

E

E

E

E

E

E

E

18

19

20

T x 32

T

1

2

3

B X32



Assembly Instructions

Step 35

Step 36

27

27

28

M x 12

M

M

M

M
x4

M x4

M x4

O

O

O

O

Q

Q

E

E

E

E

29

30

O x 2

O

Q x 2

Q

E x 4

E



Assembly Instructions

Step 37

Step 38

29

30

F

F

F

F

G

G

G

G

G

G

G

G

G

G

G

G

F x 4

F

G x 12

G

G x 8

G

G

G

G

G

G

G

G

G

G

G

G

G



Magnet

location.

Assembly Instructions

IMPORTANT NOTICE

*If the magnetic door catches are too weak to colse, the magnetic power can be adjust

 the door made easier fo close by doing the following:

1 2

Magnet position.

Loosen the Screws

only halfway.

3 4

Forward the Magnet

5 6

Tighten the Screws. New position.

Magnet



Assembly Instructions

Step 39

Step 40

31

31

32

32

32

32

31

31



Assembly Instructions

Step 42

I x 12

I

J x 12

J

Step 41

J

IJ

J x4

J x4

J x4

10



Assembly Instructions

Step 43

unit is secured to the

The unit is floor
standing, but it is
recommended that the

wall.
1. Move the unit into
desired position.
2. Mark the wall with a
suitable scribe the
position of the fixing
holes.

Warning:
Before driling,check
wall for hidden pipes
and cables.

!

3. Drill holes and insert 2 x
wall plug
4. Secure the 2 wall straps to
the top of the unit using 2
washers and 2 screws.

5. Secure the straps to the
wall using 2 x Washers
and 2 x Screws
Note: To hide the straps
behind the unit, drill the
holes lower than the top of
the unit

Assembly is complete.

R x 2

R

10

R

R

Wall

R

Wall

R


	图纸和视图
	模型

	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	5.pdf
	图纸和视图
	模型


	20.pdf
	图纸和视图
	模型



